RU

KO

O6was nHcopmaums
LLlapoBas ronoea, npegHasHa4eHHast A5 MCMNONb30BaHWSA C KOMMAKTHLIMY,
35-MM 1 HebonbLUMMK LIMPOBLIMI KaMepamm.

NoAroToBKA K PABOTE

YCTAHOBKA IrOJIOBbI HA LUITATVBE @ N ®

YcTaHoBUTE ronoBy Ha LUTATUB UM MOHOMOA Npu NomMoLLm pessosbl 3/8” “A”.
Ecnu Baww wratve nnmn moHonog cHabxeH pe3bboii Ha 1/4”, CHUMWUTE NepexoaHVK
“X” ¢ pe3bbbl Ansa kamepbl “B” 1 BKpyTUTE €ro B rHe3go “A”.

YCTAHOBKA KAMEPbI HA TONOBY
CHumMUTe nepexofHuk “X” ¢ pe3bbbl Ans kamepsbl “B”.
YcTaHoBUTe Kamepy Ha pe3bby 1/4” “B”.

PABOTA C ronoson @

Pykositka “C” pukcupyeT nepemeLleHne ronossb.

YT106bl N3MEHUTH NOMOXEHWE kKamepbl Npu nomoLum wapa “D”, noBepHuTe
pykosaTKy “C” NpOTMB 4YacoBOW CTPENKM.

A Mpy 3TOM HafexXHo yaepxuBaiTe kamepy pykoin (puc.2)

BbicTaBuB pakypc, 3adukcupyiTte wap “D” nytem noBopota pykositku “C” go
yrnopa no4acoBoWi CTPesKu.

M ’gﬂow
o] 2 sl=& O|2d2l& =& DSLR, 28 CIX|E 7tHEF S oA A
ULE EIXFOIEIMHLIEF

ol
]
4

=h

Aziciol sl =21 @ & O

£ szl ALiAPAS MZICH(EE B EE)o| SLIALE ZEstod FAHAIR
(A ZLIAtS] 37|= 3/8Q1%| RILICEH)

MZCH(EE B EE) 0| £LEALS| A 7|7} 1/401%|Q1 AL, 25z ol MEHC|AT
LEAPB” oM 24| o{RHE"X"E 212|510 A9t ZAE5H0 FHAIL.

= sll=2t 7tmietel A
E5|=9| #E ClAT LIAPB MM F4] o{RIEI"X"E M7HSHAAIR.
1/421%| =LtAB"E 01&3t0d sll=2t 7tHI2tE AT shalAl2.

A}Qukh‘go
c‘||59.| g cre %1|57 S2ZXI0|X| AEE T™ S Ae2 ghuct.
'S BAA HEoE B 23S BHHI?_ 7, 2sl=2o| 2'D'8 #835tod

5’HHIEL9| fIxIE = "o*%a* T U&LICH

A &2 0|85to{ 7tHIEtS et D H Ll U= K| EHRISHUAIR (2R 2).

s0ilzt 7t fats Rofl xlstel AP CE AAY oz E21 Balsol 2D
g & BLICH

CN

[FUBHIC
AERIFIBMM B UL [FINET IFIVAASHR—ILEATT .

vy PvI

=H~OZER0mbH @ & @
BAD3I/E RITUA" [CERE UL IF—HZEERO I T EE W,

=B —HIOADASESEBIC1/4"F AR I DHEDOTN B IFE F AAXSEAE B H 577

FTH— "X ZROHAL., RITUAT [CEDFIFTLEEW

EANDAASOMDIFIF
AASEFERB'HS57Y TH—"X'ZROH LT IEE WV 1/4" %Y "B Z EALEANA
ASEEHLE T,

=R 0

LN—CHrEAOBHZEZOYILET,
AXRTEEZBAZZOHICAR-ID'ZOY VEBRTSICE, LN—"CZER
RETAEICEL THROET,

I\ TOBIE, £5-FOFTHASEL>HUB>TIEEL (K2) .

AAXSHUENRE2 125
OY2IL&Y,

. LNN—CrEREAEICES2ICELTR-I'DZ

R
—RRITATFEER, 35mmA/NEBBANNRER A

KA

REAREE=WELE 2Q0&0

SEAELH3 AR AT A REEZMEIMERE |,

IR = BIZR AR ZRTE A /47 MRS, R MAEHLK 4B LIF TEE
BRXT, R EBEARRSUE AT,

HHENREERE L
TEB AR X WA B EIF T,
A1 NREH B RENREERA L

#R 0

EHTFCAMERANE,
ENFFERGIDAEEMARN | EET AR B AE | SURSHREITC .

I\ mrm—

—BRFAEHOMAE | BB IRAT £ B2 BT C R BUEIRBID",

FEREERY (E2)

Cod. 112656 - 05/18 Copyright © 2018 Manfrotto Bassano ltaly

(O]

N manfrotto
Imagine More

INSTRUCTIONS

MH492-BH

6 0 0

6,5cm 0,14 kg 4 kg
256" 0.311lbs 8.81bs



GB

INTRODUZIONE
Testa a sfera per fotocamere 35mm e digitali.

PREPARAZIONE

MONTAGGIO DELLA TESTA SUL TREPPIEDE @ ¢ @

Montare la testa sul treppiede o0 monopiede utilizzando il foro filettato “A” da 3/8”.
Se il vostro treppiede o monopiede ha una vite da 1/4”, rimuovere 'adattatore
“X” dall’attacco per la fotocamera “B” e avvitarlo nel foro filettato “A”.

MONTAGGIO DELLA FOTOCAMERA SULLA TESTA
Rimuovere I'adattatore “X” dall'attacco per la fotocamera “B”.
Montare la fotocamera sulla testa usando la vite “B” da 1/4”.

uUso @

La leva “C” blocca il movimento della sfera “D”.

Per liberare la sfera “D” e posizionare la fotocamera, sbloccare la leva “C”
ruotandola in senso antiorario fino alla posizione libera.

C Tenere saldamente la fotocamera con una mano durante I'operazione
(fig.2)

Raggiunta la posizione voluta, bloccare la sfera “D” ruotando a fondo la leva
“C” in senso orario.

EINLEITUNG
Ein zur Verwendung mit Kompaktkameras, Kleinbildkameras und kleinen
Digitalkameras bestimmter Kugelkopf.

ANBRINGUNG

ANBRINGUNG DES KUGELKOPFES AUF DEM STATIV @ UND @
Bringen Sie den Kugelkopf tber die 1/4”- bzw. 3/8”-Buchse “A” auf dem Stativ
usw. an.

Entfernen Sie gegebenenfalls den 1/4”-Adapter aus der 3/8"-Buchse.

ANBRINGUNG DER KAMERA AUF DEM KUGELKOPF
Befestigen Sie die Kamera mit der 1/4”-Schraube auf dem Kopf.

GEBRAUCH @

Der Hebel “C” sperrt die Bewegung des Kopfes.

Um die Kugel “D” zur Positionierung der Kamera freizusetzen, I6sen Sie den
Hebel “C*, indem Sie ihn entgegen dem Uhrzeigersinn drehen.

A Die Kamera dabei stets mit einer Hand gut festhalten (Abb. 2).

Sichern Sie nach Einstellung der gewiinschten Position den Kopf, indem Sie
den Hebel “C* im Uhrzeigersinn drehen, bis er fest verriegelt ist.

INTRODUCTION
A ball head designed for use with compact, 35mm and small digital camera.

SET UP

ASSEMBLING HEAD ON TRIPOD @ & ©

Assemble the head on the tripod/monopods etc. using the appropriate female
thread 3/8” “A”.

If your tripod/monopods has 1/4” male attachment, remove the adapter “X” from
camera attachment “B” and screw it into female thread “A”.

MOUNTING THE CAMERA ON HEAD
Remove adapter “X” from camera attachment “B”.
Mount the camera on the head using 1/4” male thread “B”.

USEQ

The lever “C” locks the movement of the head.

To release the ball “D” for positioning the camera, unlock lever “C” by rotating
anticlockwise until free position.

Q Make sure you are holding on to the camera securely with one hand
(fig.2)

Once the desired position is achieved, lock the ball “D” by turning lever “C”
fully in a clockwise direction.

INTRODUCTION
Cette rotule ball a été congue pour s’adapter aux appareils photo compacts,
35mm et numériques de petites dimensions.

INSTALLATION DE LA ROTULE SUR LE TREPIED @ ¢t @
Fixez la rotule sur le trépied, monopode ou autre équipement en insérant la vis
dans l'orifice fileté 3/8” “A” de la rotule. Si votre trépied/monopode est doté d’'une
vis 1/4”, retirez 'adaptateur 1/4 - 3/8” “X” de la vis de fixation pour appareil “B”
et vissez-le dans le filetage femelle de la base de la rotule “A”.

MONTAGE DE L’APPAREIL SUR LA ROTULE
Retirez 'adaptateur 1/4 - 3/8” “X” de la vis de fixation pour appareil “B”.
Montez I'appareil sur la rotule a I'aide de la vis 1/4” “B”.

UTILISATION @

Le bouton “C” permet de verrouiller la position de la rotule. Pour déverrouiller
la boule “D”, afin de changer l'orientation de votre appareil, tournez le bouton
“C” dans le sens inverse des aiguilles d'une montre jusqu’a ce que la boule
puisse bouger.

Q Assurez-vous de maintenir I'appareil d’'une main (fig.2)

Une fois que la boule “D” est dans la position souhaitée, verrouillez-la en
tournant au maximum le bouton “C” dans le sens des aiguilles d’'une montre.

INTRODUCCION
Roétula de bola disefiada para ser utilizada con cdmara compacta de 35mm y
con camara digital pequefia.

ACOPLAR LA ROTULA AL TRIPODE@ Y @

Acoplen la rétula al tripode/monopiés utilizando la rosca hembra 3/8” “A”.

Si su tripode/monopiés tiene una clavija macho de 1/4”, quiten el adaptador “X”
de la clavija de la camara “B” y atornillen el adaptador en la rosca hembra “A”.

ACOPLAR LA CAMARA A LA ROTULA
Quiten el adaptador “X” de la clavija de la camara “B”.
Acoplen la cdmara a la rétula utilizando la rosca macho de 1/4” “B”.

UTILIZACION @

La perilla de bloqueo “C” bloquea el movimiento de la rétula. Para posicionar
la camara deberas liberar la bola “D”, desbloquea la perilla de bloqueo “C”
rotando en sentido antihorario hasta que la bola quede libre.

Asegurate de estar sujetando la camara firmemente con una mano
durante este proceso. (fig.2)

Cuando obtengas la posicion deseada, bloquea la bola “D” girando totalmente
la perilla de bloqueo “C” en sentido horario.



